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Internal Assessment Test | — March 2019

Sub: HIGHWAY ENGINEERING

Sub
Code:

15CV63

Branch:

90 min’s .me =150

UcEmo:“
Marks:

Date: 06/03/2019

Sem/Sec:

VI

b

w\:w T A is compulsory and answer any TWO sz,a::a Srom Part B

Assume any missing data suitably.
PART A

-y ;
n dia.

w.ﬁﬂﬂ. w

<<:8 brief notes on contribution of (i) OWE (ii) IRC, (iii) Motor vehicle
Hi :Emv\ research board and (v) Oo:ﬁa_ road fund on highway

MARKS

[20]

ur road plan. Eoé the road _osm& 5. [10)

COl LI

COl . L2
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3.(a) Determi

(b)

ne the lengths of different categories of roads in a state in India by

2001 plan. The total area of the State is 80,000 sq.km and number of towns

as per 1981 census is 86. Calculate the length of primary, secondary and

tertiary road network. ,

Calculate the stopping sight distance on highwa
2% for a design speed of 80 Kmph. Take reaction ti
efficient of friction as 0.33.

What are the factors controlling Highway alignment?

cross section elements.

y at a descending gradient of
me as 2.5 seconds and co-

[08]

(07]

COI VL3

EO2 L2

Discuss about Emré@f [05+10] CO2 12
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